SUNDAY WINNER CHIGOZIRIM MECHATRONICS ENGINEERING

18/ENG05/057

AFE 202: FOOD SECURITY AND HEALTH AWARENESS

A FEASIBILITY REPORT / BUSINESS PLAN FOR THE DEVELOPMENT OF A FISH $\,$

FARMING COOPERATION

The undersigned reader acknowledges that the information provided in this business plan is

a confidential intellectual property; therefore the reader agrees not to disclose it to a third

party without the express written permission of the promoters of the proposed business.

It is acknowledged by the reader that information furnished in this business plan is in all

respect confidential in nature, other than information which is in the public domain through

other means and that any disclosure or use of same by the reader, may cause serious harm or

damage to the promoters of the proposed business.

Upon request, this document is to be immediately returned to the promoters of the proposed

business

Signature:

Name:

Date:

Executive Summary/ Project Description

This business plan examines the feasibility of and indeed economic viability of the development of a fish farming cooperation in Port Harcourt by Winner Sunday and Elmacro Farming Cooperative Society Limited. The farm will produce about 12 different types of fishes. There is high domestic demand for these fishes because of our huge population and production constraints leading to shortage of the commodity. Production is currently popular in the North Central and North West with Benue State and Kaduna as the lead producers.

The proposed project will create economic opportunities, impact positively on the people and help conserve scarce foreign exchange. The entire fishes to be produced will be sourced locally through direct production, contract farming in Rivers State and direct purchase from smallholder farmers in other production areas. The project will create market access, improve income of farmers and contribute significantly to food security. It will also generate satisfactory returns for sponsors and investors.

Sponsorship

The project is sponsored by Chiemezie Peter, well renowned business man. Chiemezie Peter is promoting the productivity of smallholder farmers in Port Harcourt through the Elmacro Farming Cooperative Limited. The Cooperation has experts with many years of experience in the project being proposed. Guild Agribusiness Ventures & Consultancy will be responsible for the management consultancy of the projects.

Management

The management will comprise of a democratically elected Board of Directors at the apex of the organization structure. This will be made up of shareholders and member of the cooperative who have stake in the survival, growth and profitability of the business as well as distinguished agribusiness professionals of proven integrity and vast experience in the project area. The prime objective of the board will be to give strategic directions and policies that will ensure long term success of the organization. The board will ensure that the organization complied with all standards set by regulatory authorities.

The Managing Director/President shall be responsible for the co-ordination of the day to day management of the cooperative business. He is accountable to the Board of Directors; he will mobilize organization resources to achieve set goals. He will manage business risks and focus on wealth creation.

Technical Assistance

The cooperation has working relationship with IITA (International Institute of Tropical Agriculture, Ibadan) through an executed MOU. IITA has mandate in fish production and processing and will provide technical assistance in this regard. The Cooperation also has a working relationship with BOA (Bank of Agriculture) and we are collaborating on Farmers Benefit Annual Agric Expo where the founder appreciates Rivers Farmers through monetary award to the best 3 farmers in each local government area of Rivers State and the overall best farmer in the state. Bank of Agriculture has agreed to finance production and breeding of fishes through a loan at 9% interest rate (anchor borrower's scheme) given to the cooperative.

The cooperation will fund the processing factory and access finance for the fish breeding equipment from BOI (Bank of Industry) at the rate of 9%. The cooperative will also seek grant from United State Africa Development Foundation(USADF). The cooperation has relationship with commercial banks and will approach one for loan to clear the land which will be leased to members of the cooperative.

The cooperation has a working relationship with Rives State Government, Rivers State Ministry of Agric, Farmers' Union, Agric Cooperatives and individual farmers. The cooperation will get technical support from this relationship in the area of production through contract farming or outgrower scheme.

The cooperation has working relationships with and linkages to industry players in the project area who will offtake products through a purchase and sale contract agreement. They include Flour Mill of Nigeria Limited, Obasanjo Farms Ltd, Animal Care, Amo Farms, Farm Support and others. The soya oil will be sold through cooperatives and other distribution channels. The soya sludge will be sold to players in the paints and cosmetics industry.

Market and Sales

Market orientation: domestic; South West & South East, Nigeria

Market Share: 5% niche market in South West, South East Nigeria

Users of Products: edible oil for human, fishes for the market industry industries in South

East.

Competition analysis

Saki West L.G.A. in Oyo State alone produced 44% of national output between 1999 and 2017. Akure North L.G.A in Ondo State followed with 27% of national output within the period. The only places where significant production took place in the North, Nigeria was in Benue State and Kaduna State. Based on this above analysis, competition in terms of

production in South West, Nigeria is non-existent compared to the demand for produce.

Tariff and Import Restriction

Forex restriction on food importation and zero duty on imported agricultural equipment will

favour the project under consideration.

Market Potential

There is strong demand for fish and fish derivatives in the Southern part of Nigeria. The state

of infrastructure though not perfect still supports production and trade within Nigeria.

Profitability

Weather, biological, chemical, physical and environmental factors such as temperature,

sunlight, water, air, ph, diseases, price of fish food fluctuations and other risks. However,

technical, scientific and financial based solutions will be employed to hedge against risks

and safeguard profit.

Technical Feasibility

The projects (production of fishes and fish oil extraction) are technically feasible. In terms

of technology, which involve the extraction of oil, the industrial processes are simple and a

specialist in oil extraction with more than 20 years experience is part of our team. The needed

equipment for oil extraction are readily available and our experts have hand on experience

in the usage and maintenance of the equipment.

On the fish production, we have specialists in mechanization, farm management, water acidity specialists, market development, agriculture extension and accounting as part of our management team. We also have specialists in quality control as part of our management team. The state of infrastructure around the Cooperation and generally in Port Harcourt is adequate and suitable for the location of the farm for efficient production, processing and marketing. Raw materials will be produced and sourced locally.

The major competitors in the South West are DELIGHT FISHES and Collins fishery with the Grand fish oil brand and Executive Chef brand. Delight fishes has about 15 different species of fish in Lagos and 14 species in Jos while Collins fishery produces 16 species in Akure, Elmacro farms will target a market niche and penetrate through cooperative societies to make our brand popular. From our analysis, integration of production and processing will give us a competitive advantage.

We are implementing our project using best international practices, sustainable production and due consideration for the environment. Although some degree of deforestation will occur, the EIA(Environmental Impact Assessment) report shows little or no damage to the environment as it relates to the issue of climate change.

Government Support and Regulation

The project conform with the economic diversification objective of the government. It also supports foreign exchange and import reduction conservation of government. It creates economic opportunities, market access, improved income for farmers and support food security objective of government. The project will benefit from government intervention fund in the agriculture sector. The project will also benefit from the favourable policy of zero duty for agricultural and equipment import. Restriction of forex for all food products will also widen market opportunity. The project will contribute significantly to employment, output increase, stable price and stable exchange rate.

Project Timeline

The project will be completed within 6months preferably April, 2020 to October, 2020

7.0 Estimated Project Costs and Revenue

Construction cost estimate for this 400 m² paddy pond is obtained as follows

Item	Unit	Number of units	Cost per unit (US\$)	Cost of item (US\$)
Site clearing	m ²	400	0.25	100.00
Top soil removal/storage (0.20 m)	m³	80	2.50	200.00
Earthwork				
• pond dikes (80 m x 2.50 m²)	m³	200	1.60	320.00
• feeder canal (50 m x 0.10 m²)	m³	5	1.60	8.00
drainage canal (20 m x 0.10 m²)	m³	2	1.60	3.20
transport on 5 m average	m³-m	1000	0.0012	1.20
• compaction	m³	200	1.00	200.00
finishing: forming/planting	m²	160	0.50	80.00
Monk tower structure	m ³	0.34	103.40	35.16
Monk pipeline	m	5	1.70	8.50
Inlet pipe	m	1	1.40	1.40
Construction cost of pond				957.46
Contingencies (approx. 10%)				95.75
Total cost estimate				1053.21

Funding Mechanism

Winner Sunday will provide 400Ha of cleared farmland around Port Harcourt and lease it to members of the cooperative. Winner Sunday will also lease 6,000MT capacity tank as equity contribution

Equity investor to provide equity for equipment and vehicles purchase

Where possible, an equity investor to provide equity for working capital or otherwise secure loan at the rate of 9% through government intervention window at the Bank of Agriculture, Bank of Industry and Commercial banks.

Conclusion

The project is technically feasible and commercially viable. It is therefore recommended for				
funding.				